
the manufacturing transformation 
process”. [1]

Other authors provide a more 

based on there main categories:
The technological concept: the 

relationship between ratios of output 
to the inputs used in its production.

The engineering concept: the 
relationship between the actual and 
the potential output of a process.

The economist concept: the 

equivalating production with 

the inputs to outputs and is aimed 

possible output that can be 
produced for a given amount of 
input or the minimum inputs to 
be used to achieve a given output. 
While this approach has the benefit 

1. THE ISSUE OF 
PRODUCTIVITY

factors of production has been a 

which inputs are used in order to 

main aim is to use the available (and 

in the most efficient and effective 
manner as to generate the most 

te use of resources in order to 
produce the desired results. 

There is no consensus regarding 

meaning varies depending on the 

„the relation of output to input  in 
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Assessing the productivity of factors of production has been a key issue for 
economists for many decades, as the development and well-being of a govenrment 
sector, industry or company have been very early on linked to the way in which 
inputs are used in order to produce outputs. In this respect, the main aim is 
to use the available (and often scarce) resources (human, material, capital, 
information etc) in the most efficient and effective manner as to generate the 
most output; in othr words, to optimize te use of resources in order to produce 
the desired results. 
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indicators measuring the 
contribution of capital 
resources to the output (capital 

-

-

narrowness of the single-factor 

to the total inputs (all the factors of 

variable(s) which account for effects 

total factor productivity refers to the 

amount of inputs used in production. 

higher costs (and lower incomes) for 

the inputs.
The above approaches to 

using inputs to generate outputs. 
The optimum method has to be 

of approaches is desirable to get an 

general picture.
Another method used for 

to offer a more detailed view of how 

the formation of the total output and 

(such as using more performant 
equipment instead of human labor). 
One of the advantages of using 

the measurement over time of the 
evolution of the relationship between 
inputs and outputs. One of the 

relationships and tradeoffs between 

whole to the creation of the output.

used in the form of single-factor 

presented as a ratio of output and one 
input tt frequent factors of procution 

indicators measuring the 
contribution of labor to the output 

-
-
-
-

- no. hours in class per proffessor
indicators measuring the 
contribution of material resources to 

- output per value of materials 
used



speculative price increases (such 
as a real estate boom) and other 

difficult to estimate how much of 

offers the picture of an increasing 
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Source

correlated with the number of hours 

with the reserve that is remains a 
quantitative indicator and does not 
capture the qualitative aspects of 
the production.

2. DETERMINING LABOUR 
PRODUCTIVITY

As with the overall concept of 

so eas

to the amount of goods and services 

it is described as the rate of output 

per unit of time as compared with 

These indicators are useful for 
generating a picture of how much 
labor contributes to the overall 

of results deriving fron calculations 

to include in these calculations both 
quantitative and qualitative factors. 
This is a challenge both at the level 
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Source

need for refinement and discussion 
in order to capture all the specifics 

number of bullets produced/ unit of 

collar” activities is less obvious. 

tempting due to the ease of obtaining 

no clear correlations between a pilot’s 

hours. The question of increasing 
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The increasing trend of the 

does not present the entire picture. An 

a different reason – the companies 

output as before from the remaining 

As seen in Figure 3
with other countries from the EU 

room for improvement in the labor 

the encouraging increasing trend of 

has been less than half the European 
average.



that the pilot of a Lear Jet is less 
productive than the pilot of a 747 
for the reason that the number of 
passengers is different. 

Another approach to increasing 

either maintaining the same revenues 
but reducing the inputs (reducing the 

remaining staff) or maintaining the 

the level of revenues. 

with negative effects on the level of 

Using this data in calculating the 

erroneous impression that the level 

we consider the revenues in general 

use for our calculations the revenues 

fare for the air-transport service as 

services besides the flight itself and 

The various approaches for this 
problem have been classified in 
several categories [5]:

meaning that the output increases 
faster than input

refering to obtaining more 
output from the same input)
more output with a reduction in 
input (considered as „the ideal” 

achieved in the real world).

meaning that the aim is to obtain 
the same output with fewer inputs

correlated with a greater 
decrease in input. 

the output for the same input. 

the approach ignores the potential 

longer hours – from lower motivation 

passengers carried as the output for 

is not a result of the pilot’s decision 

It would be irrational to consider 
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3. CONCLUSIONS

Finding the most appropriate 

than in the production sector.

This output should also be 
he


